Please use these data for completing the DQs below

Balance Sheet of U. R. Smart

At December 31, 2003

Current Assets




Current Liabilities

Cash





Accounts Payable

Marketable Securities



Federal Income Tax Due Previous Year

Account Receivable



Short Term Bank Loans

Short term Notes Receivable


Dividends Payable

Merchandise Inventory


Short term Promissory Notes

Advances to Employees for Travel

Short term Bank Loans







Estimated Taxes Payable

Total Current Assets

  $20,000
Total Current Liabilities

$10,000

Fixed Assets




Long Term Liabilities

Buildings




Notes Payable

Less Accumulated Depreciation

Total Long Term Liabilities

$50,000

Equipment






Less Accumulated Depreciation

Owners Equity

Total Fixed Assets

$100,000
Capital




$60,000
Total Assets


$120,000
Total Liabilities and Owners Equity
$120,000

Using the Current Ratio which is:
  Current Assets
  $20,000
2






Current Liabilities
  $10,000
1

What are the effects of these transactions + increase, - decrease, and 0 no effect, assuming a Current Ratio of more than 1 to 1 






                                       


  Total        
Effect


 




                              Current

 Current  
on Net





                                            Assets 

  Ratio   
Income
a.
Cash is acquired through issuance of 

additional common stock.                   

+

    +

       0
b.
Merchandise is sold for cash.             








c.
Federal income tax due for the previous 

year is paid.                           










d.
A fixed asset is sold for less than 

book value.                         










e.
A fixed asset is sold for more than 

book value.                           









f.
Merchandise is sold on credit.       







g.
Payment is made to trade creditors for 

previous purchases.                       







h.
A cash dividend is declared and paid. 







i.
Cash is obtained through short-term bank

loans.                                 








j.
Short-term notes receivable are sold at

a discount.                          








k.
Marketable securities are sold below cost. 






l.
Advances are made to employees.          







m.
Current operating expenses are paid.      







n.
Short-term promissory notes are issued to

trade creditors in exchange for past due 

accounts payable.                         








o.
Ten-year notes are issued to pay off

accounts payable.                         








p.
A fully depreciated asset is retired.   







q.
Accounts receivable are collected.    







What are the effects of these transactions + increase, - decrease ,  and 0 no effect, assuming a Current Ratio of more than 1 to 1 






                                       


  Total        
Effect


 




                              Current

 Current  
on Net





                                            Assets 

  Ratio   
Income
r.
Equipment is purchased with short-term

notes.                  










s.
Merchandise is purchased on credit.  







t. The estimated taxes payable are increased. 







